A ACTUATECH S.p.A.

Kig 705
& . | Sonoreo i 105
ACTUATECH

FIE +390308908142 - £ H +390308908143

RP - X3 DA

LTI | m—

GIUGIARD DESIGN

A=)

W&

\_ Be environmentally friendly..please don't print this document unless you really need to. 1/17


https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/
https://www.cn.actuatech.com/%E6%B0%94%E5%8A%A8%E6%89%A7%E8%A1%8C%E5%99%A8/rackon/
https://www.cn.actuatech.com/ImmaginiProdotti/CINEMATISMOPIGNONECREMAGLIERA.jpg
https://www.cn.actuatech.com/ImmaginiProdotti/DOPPIAREGOLAZIONE.jpg

<L -
Q (%))
Wi @
TS ©
oK<
w o ©
<c S
225
= o =
[SIERIES
< c Z
5%

Hnd

FIE +390308908142 - £ H +390308908143

®

O
ACTUATECH

SREAH

2/17

Be environmentally friendly..please don't print this document unless you really need to.

L N


https://www.cn.actuatech.com/ImmaginiProdotti/sezionato-rackon-new.png
https://www.cn.actuatech.com/ImmaginiProdotti/RACKONSR.jpg

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

1B HAEEREE)
TREERN SR ERNEIR
BRI RERS S ERNE.

PR S
AR AR R T 25 B K AN/ B TIF (% R £5°).
GREIGIEI DI E N

3B WA RN B SR R AT E .

TR EREMEASE (BRTERE)

BT W ERAGHRNMEN e RARIZEZ RS | SIESIAREE.
IR L.

4IRS,
BR T BRAMRMEMAEE (015 um Ra) , SR EIRER.

S5 aXHEIR AL
FRIEE SRS,
BIZMECE.

L AFTRAEENAMURBEREE O,
RKIOZERK240(CEZEE, - RKI00FIRK480E 5K,

NPTIRE S FLIRIR T SKifkd .
E: NS PRI EPVE- 9

HACTUATECHE B RN TE BSR4,
HEACTUATECHE BRI TR A B =IAE.

ATEX compliance.
B[ RETHIESEIER.

EASILIFRAIAE
B TRESR

\__ Be environmentally friendly..please don't print this document unless you really need to. 3/17



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

it

TARERE

-3H4%E : IONMZE474Nm

SSEZHEOMRAE : EN ISO 5211: FO3 - FO4 - FOS - FO7 - F10 - F12,

- BFEEN 15714-3F5R A,

- AR (2014/34/UE) ATEXRHIR 54,

- TR 1 100° (-5, +95°),

- GANPRAIIF % (0°F190°) P T-5F0+5 XUk VA% .

%6 SENEAMRIER (RIKESIEE) .

-SIFEE—AWITE . RPERIFRIX N T EF12A5.6barlt e sl sE (Nm).

ETHM
- FRAEIRE : -20°C~+80°C
HFIRARAS
- &I 1 -20°C~+150°C,
- {8 : -50°C~+60°C,
-BEEN : 55bar ; REfEMLES : 8bar,
- TRRIR © SRIBIEIRESSIE ; R UNI EN 15714-3:200945 7,
- HEIEEEN | B ERSEEHM RARES BTOANERRIREL,

VEARIASTRRRAS | SRADK G

\L Be environmentally friendly..please don't print this document unless you really need to. 4 /17



n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH '

e
RFHAPITES RP
R~ 0010, 0020, 0040, 0060, 0080, 00120, 00160, 0240, 0300, 0480
Py VA ACTUATECH
A 90°
e [0 - =
c* 120°
D* 135°
I, R :5Ra S|
L R4
S g E
1E1T o BRI
D RYS
00 T
20 2,0 bar #%
25 2,5 bar 3%
30 3,0 bar 3%
S 35 3,5 bar 5%
40 4,0 bar 3%
45 4.5 bar 3%
50 5,0 bar #%
55 5,5 bar 3%
60 6,0 bar 3%
03 FO3
04 FO4
YR 05 Fos
MIEZ 5 07 FO7
10 F10
12 F12
THERE ° R
D* X
09 A9 mm
1 AN mm
AR = PR
17 A7 mm
22 A 22 mm
27 A 27 mm
G NamurZtfE , GAST 4L
NamurEsfE , NPTZ 4L
REEE o GASZEL , RfALTEE
(FTtNamurfEH)
Namuri[ , £RNCAST 4L
ARrE
kRA 6 R
4 =)
* B,

#IE B RETARAEIREACTUATECH,

RPZRELE51

YR XA RPO04OVAARDOOO5QTIG
TR RP 40 33K 1SO FOS5 07 {TEMTmmELSANAMURE JE,

\L Be environmentally friendly..please don't print this document unless you really need to. 5/17



n ACTUATECH S.p.A.
‘.’ San Lorenzo X 705
® EHF Villa Carcina(BS) ,

FaIE +390308908142 - {£H +390308908143
ACTUATECH

YRS 5T RPO300VAARDO007Q22|
FEERAEA: RP 300 M3 1ISO FO7 10 1T2%#h22mm , KERNEBRSIANAMUREL.

YRAL %4 RPOO4OVAARS6005Q11G
FEERAER: RP 40 B3 6BAR 1SO FO5 07 TEMNMMEISANAMUREEE,

b F: RPO300VAARS6007Q22|
FEERS T4 RP 300 83K 6BAR ISO FO7 10 TE4#122mm , SENERSENAMUREEL.

\_ Be environmentally friendly..please don't print this document unless you really need to. 6/17



ACTUATECH S.p.A.
San Lorenzo X 705

ZK#H Villa Carcina(BS) ,

¢ .I
(\/ o ®
FEiE +390308908142 - ’ﬁ%ﬁ +390308908143
ACTUATECH

e
RP10 + RP240

RP20 - 240 senza basetta Namur
RP20 - 240 without Namur plate

RP10 senza basetta Namur
RP10 without Namur piate
@
o
=
N
P Q
M M
410
@ [ Dispaositive di limitazione della corsa
Basetta Namur interfaccia secondo EN15714-3 =
Namur piate interface EN15714-3 ;
I
' —
Anello di centragglo a richiesta
EN SO 5211
Centering ring on requesi 50

(N —;

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
Accessorles interface EN 15714-3 3845

7/17

Be environmentally friendly..please don't print this document unless you really need to.

L N


https://www.cn.actuatech.com/ImmaginiProdotti/DimensioniRP10-240-DA.png

O

\ o
ACTUATECH

R~ RP10 RP10
ISO FO3 | FO4
A 121,7 || 1217
B 9 9
C xdepth | M5x8| M5x8
D x depth - -
E 36 42
F - -
G 10 10
H 33 33
| 9 ©
J 50 50
K 25 25
L 80 80
M 245 | 245
N 71* 71*
o 10,7 || 10,7
P 32,5% | 32,5*
Q 385 | 385
R 109 | 109
S 15 15
T 65 65
V) 49 49
\" 16 16
W 5 (GAS) | 1/8" | 1/8"
/8"- 1| 1/8"-
W 455 (NPT) o7 27
Ch. 10 10
Ch.2 3 3
BE (kg) 0,9 0,9
-
(dn:’;/iile) 12 || 012
z 49,8 | 49,8
w /8" /8"

H = BEEHRT .
*IRIBAERAET.

RP20

FO3/FO5| FO3/FO5

153,7
9
M5x8
M6x9
36
50

50,9

80
30
100
30
82,5
132
38,5
44
127
20
80
59,75
19
/8"

1/8"-27

10
3

14
0,25

5919)
1/8”

®

RP20

153,7
m
M5x8
M6x9
36
50

50,9

80
30
100
30
82,5
132
38,5
44
127
20
80
59,75
19
1/8"

1/8"-27

10
3

14
0,25

5919
-l/ "

RP20
FO4
153,7

M5x8

42

509

80
30
100
30
82,5
132
385
44
12,7
20
80
59,75
19
1/8"

1/8"-
27

10
3

14
0,25

5919)
/8"

RP20
FO4
153,7

M5x8

42

509

80
30
100
30
82,5
132
385
44
12,7
20
80
59,75

/8"

1/8"-
27

14
0,25

5919)
/8"

RP40

RP60

RP80

ACTUATECH S.p.A.
San Lorenzo Xf§ 705

ZK#H Villa Carcina(BS) ,
g +390308908142 - {£H +390308908143

RP120 | RP160 RP240

FO4 |[FO5/FO7 [FO5/FO7| FO5/FO7| FO5/FO7 FO5/FO7 |[FO7/F10/ FO7/F10

R+ [mm]
RP40 RP40 RP40
FO4
180,4180,4 | 180,4
n 14 n
M5x8/|M5x8 | M6x9
- - M8x12
42 42 50
- - 70
13 13 13
60,8 | 60,8 60,8
12 12 12
80 80 80
30 30 30
n2 n2 2
365 | 36,5 36,5
955* | 955* | 955*
16,5 | 16,5 16,5
45 || 45¢ 45*
50,5 || 50,5 50,5
162 | 16,2 16,2
20 20 20
92 92 92
70,5 | 70,5 70,5
21 21 21
/8" | /8" /8"
o e
10 10 10
3 3 3
2] 2,1 2,
0,48 | 0,48 0,48
69,8 | 69,8 69,8
/8" /8" /8"

180,4

14

M6x9
M8x12

50
70

n2
365
95,5
16,5
45+
50,5
16,2
20
92
70,5
21
1/8"

1/8"-27

10
3

2]
0,48

69,8
/8"

\L Be environmentally friendly..please don't print this document unless you really need to.

215,4
14
M6x9

M8x12

50
70

122
41,5
107,8*
16,5
52,3*
85
18
20
102
70,5
24
1/8"

1/8"-27

13
4

29
0,75

77,7
-l/ "

2355
17
M6x9

M8x12

50
70
13
756
15
80
30
130
46
116,5%
19,3
56,5
60
202
20
110
86
26
1/8"

1/8"-27

13
4

37
1,04

84,6
/8"

265,9
17
M6x9

2859
22
M8x12

318,4
22
M8x12

M8x12 | M10x15 | M10x15

50
70

143
51
127*
19,3
62*
65
225
20
123
97,75
32
1/4"

1/4"18

13
4

51
1,48

96,6
-I/ "

70
102
13
97,5

80
30
154
56,5
147
243
70,5*
70,5
255
20
134
106,25
36
1/4"

1/4"18

6,5
1,99

106,6
-l/ "

70
102
195
n2
22
80
30
180
64
159+
243
81
78
31,8
30
150
120,5
4
1/4"

1/4"18

9
291

121
-l/ "

8/17



L N

g ®
ACTUATECH

A
OB H] 1
il %
¥ \\ Il
]
o BT 8 e

DR

Interfaccia Namur EN15714-3
Y Namur interface EN15714-3

RP300 + RP480

ACTUATECH S.p.A.

San Lorenzo X 705
EKF Villa Carcina(BS) ,

B3E +390308908142 - {EH +390308908143

&

32

RP300-480 con basetta interfaccia Namur EN15714-3
RP300-480 with Namur plate interface ENT5714-3

=

24

%

&

O o4

P Q
M
=
-«
21\ cpzionate
Optional

®

O,

e —

Anello di centraggio a richiesta

Centering ring on request

30
:[8

@
£

1h11°®

Be environmentally friendly..please don't print this document unless you really need to.

Interfaccia per accessori secondo EN 15714-3 (VDI/VDE 3845)
———=~._Accessories interface EN 15714-3 (VDI/VDE 3845)

ENISO 5211

Dispasitivo di limitazione della corsa
Stroke limiter device

9/17


https://www.cn.actuatech.com/ImmaginiProdotti/DimensioniRP300-480-DA.png

L N

2
& .
ACTUATECH

R
ISO
A
B
C x depth
D x depth
E

I o m

<|/€c 4w v O v 0 2 X r

W 17/ (GAS)
W 452k (NPT)
Ch.l
ch.2
EE (kg)
#<=2 (dm3/cycle)
z
w

H = EERF
*IRIBABRAETL.

R~ [mm]

RP300
FO7/F10
3524
22
M8x12
M10x15
70
102
19,5
125
22
192
69,5
156,5*
243
87*
83,5
318
30
162
131
46
1/4"
1/4"18
18
6
4
3,77
124,5
1/4"

Be environmentally friendly..please don't print this document unless you really need to.

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,

RP480
F10/F12
3934
27
M10x15
M12x18
102
125
19,5
145
27
214
80
180*
295
100*
9%
38
30
184
149,5
52
1/4"
1/4"18
21
6
16,3
58
1445
14"

FaIE +390308908142 - {£H +390308908143

10/17



A ACTUATECH S.p.A.
. San Lorenzo X 705
V ® EKF Villa Carcina(BS) ,

HIE +390308908142 - {£H +390308908143
ACTUATECH

RP10 + RP480

\_ Be environmentally friendly..please don't print this document unless you really need to. n/17


https://www.cn.actuatech.com/ImmaginiProdotti/RP-DA-materiali.png

e .

ACTUATECH

A= b1

1 fane)

2 L

3 iR (AR )
4 R (TSR
5* OEfE (TiiEEIE)
6 it

7 AR

8 HMNERLEHERhA
9 i3y

10* SeegeriftFE
™ OF

12* #h O
13 Namur
14 Z R

15* OF

16* B ((TIRAE)
17* WER(ITRRIRE)
18* VARZAE

19 TEE

20* EESELES
21 RSB

20* OFE R

23* HEOME
24 Hi

25 o3

* BHERNEAML,

HAFESREE , AES R,

ME

\L Be environmentally friendly..please don't print this document unless you really need to.

O NINININIDNINININININN

ACTUATECH S.p.A.
San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

)53
e
Erat]

ZERER IR
Z YRR R AR

NBR

S
ZERERRE
Z YRR R

4R

TR

NBR

NBR
mEE
4R

NBR
4R
4R
B

AE

ZYURRER AR

REMs

NBR

NBR
EEE
4R

12/17



125%

100%

75%

50%

25%

0%

R~

RP10
RP20
RP40
RP60
RP80
RP120
RP160
RP240
RP300
RP480

O

\ o
ACTUATECH

BN

®

ACTUATECH S.p.A.

San Lorenzo X 705
ZK#H Villa Carcina(BS) ,
HIE +390308908142 - {£H +390308908143

«DA»HI%E (Nm)ER
Aria Air Aria Air
o° 15° 30° 45° 60" 75° 90" 7157 60° 45° 30° 15°
RP «DA»1%E (Nm)EZ&R
SHKEN
2 bar 2,5 bar 3 bar 3,5 bar 4 bar 4.5 bar 5 bar 55 bar 5,6 bar 6 bar 7 bar 8 bar
37 4,7 56 6,6 7.5 8,4 9,4 10,3 10,5 n2 13,1 15,0
73 9] 1,0 12,8 14,6 16,4 18,3 20,1 20,5 219 256 292
13,9 17,4 209 24,4 279 31,3 34,8 38,3 39,0 41,8 48,7 557
21,2 26,5 319 372 42,5 47,8 53] 58,4 59,5 63,7 74,3 84,9
30,0 375 44,9 52,4 599 67,4 74,9 82,4 839 89,9 1049 19,9
42,7 53,4 64,0 74,7 854 96,1 106,7 17,4 19,5 128,1 149,4 170,8
58,5 732 87,8 102,5 n7,1 131,7 146,4 161,0 163,9 175,6 2049 2342
852 106,5 127,8 149, 170,4 191,7 213,0 234,3 238,6 2556 298,2 340,8
109,8 1372 164,7 1921 219,6 247,0 2745 301,9 307,4 3293 384,2 4391
172,4 2155 2585 301,6 3447 3878 430,9 474,0 482,6 5171 603,3 689,5

T IRARREN T RAsEEKEACTUATECH,

\__ Be environmentally friendly..please don't print this document unless you really need to.

13/17


https://www.cn.actuatech.com/ImmaginiProdotti/Diagramma-RP-DA.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %j{%{qug\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

A%

MBI TEHEATE]

PR IS

BEMAESTILA |, TEER T OUEIES , BRI , RnEM
HASITERF.

E{TEE

BREMASRIL2 , TEERINES) , HAREIE , R EFHAS)
TFEEF,

WPHIT A TAZ AR

\__ Be environmentally friendly..please don't print this document unless you really need to. 14./17


https://www.cn.actuatech.com/ImmaginiProdotti/FunzionamentoDA-1.png
https://www.cn.actuatech.com/ImmaginiProdotti/FunzionamentoDA-2.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - %jﬁé\/ﬁi\la Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

TR

\__ Be environmentally friendly..please don't print this document unless you really need to. 15/17


https://www.cn.actuatech.com/ImmaginiProdotti/regolazioneaperturaRPDA.png

A ACTUATECH S.p.A.
. San Lorenzo X 705
u ® - %jﬁé\/ﬁilla Carcina(BS) ,
¥E +390308908142 - +390308908143
ACTUATECH '

A) BRPITIR N TR UE (A EPIATTE D).

B) BEMABHAER AT,

C) BARESAMANTIL 2" (SERPF TR FINITER) | (EIEELTITHE
FRfES.

D) 1 AR Fhe R MB T AT ARSI (R IR ZE IR R £5°).

E) WEREINE , ERAIRTFHUEIREA | R RRTIRF I RS
Al,

FEBENER ERIRE | EEFETI,

A) BRPITIS N TR SUE (AR TTE ).

B) HEtAB R BI,

C) BEESAEMANIIL 4" (RERISF T RMREATRR) |, (EIEZRALTHTHE
FRALES,

D) { AR F I A st MBI R (R AR R £5°).

E) ARG , ERIRTFHUEBHEB , R AR F e AT
Bl.

HENENES ERRME , BERERI.

\__ Be environmentally friendly..please don't print this document unless you really need to. 16/17


https://www.cn.actuatech.com/ImmaginiProdotti/regolazionechiusuraRPDA.png

n ACTUATECH S.p.A.
. San Lorenzo Xf§ 705
u ® - ,‘éj{%{ﬂg\/ﬁi\la Carcina(BS) ,
V& +390308908142 - +390308908143
ACTUATECH 1

A

AP

ATEX - Rack & Pinion pneumatic actuators
SIL3 IEC 61508 - RP

Grado di protezione IP
ULERE

MANB81566 Attuatore RP
VB

APRPO521 User Manual RP

Bx

RP ACTUATORS

\_ Be environmentally friendly..please don't print this document unless you really need to. 17 /17


https://www.cn.actuatech.com/FilesProdotti/ACTUATECHRP-RackPinionpneumaticactuator.pdf
https://www.cn.actuatech.com/FilesProdotti/Certificate-212185901-ACTUATECH-Attuatorirackandpinion.pdf
https://www.cn.actuatech.com/FilesProdotti/TR2021-0317-00ACTUATECHENVEN60529IP66IP67IP68attuatore-signed.pdf
https://www.cn.actuatech.com/FilesProdotti/MAN81566-attuatoreRPActuatech-IT.pdf
https://www.cn.actuatech.com/FilesProdotti/APRP0521-FogliettoIstruzioniRPActuatech.pdf
https://www.cn.actuatech.com/FilesProdotti/AGRP0021-ACTUATECH-RPACTUATOR.pdf

	证明书
	说明书
	说明
	目录

